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Study the flow charl below.

Animals |——

\Which of the following is claesified correctlyfor group Amnd B?

A. A B

insect | reptile

B. A B
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Question 2

A.

mammal | fish

c. A B
insect | fish
mammal | reptile
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,123,850

Which statement is correct about the fern and the mushroom?

A. They grow only on the ground.
B. They are non-flowering plants.
v C. They reproduce from spores.

D. They make their own food.
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,123,854

Question 3
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Primary 6 Science » Primary 6 Science (Term 1)

Asninah wantad 1o find cut how the length of the wing-llke siructure  affects the

distance lravelled by he seeds,

-

Witich of the following should b hept constant bo ansire & fair lest?

A lpcabion of the mpimnant

B |Mﬂmm¢!ﬁﬂﬂ
€ height freen wiich the seeds were dropped

A only
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B. AandConly

v C. BandConly

Question 4

D. A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,123,858

Study tha dispersal of pamibs by plants X, ¥ and 2
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0 " wind directicn
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How e ther seads mast Iikely dispersed?

A. X Y

animal | explosive action | wind

v B [x

Y V4

explosive action

animal | wind

C. Ix Y |z

animal | wind | explosive action

D. Ix |y |z

wind | animal | explosive action

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 5

Muiltiple Choice
No

Fri 24th Sep 2021
N/A

29,123,870
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an obsarved two cells, X and Y, undar the MicrOs0oRE. Ha complated tho tatla

Question Type:
Randomize Answers: No
Date Added:
Last Modified: N/A
QID#:

Cell X |Cell Y

cheek | leaf

Cell X|Cell Y

root cheek

Cell X |Cell Y

onion |cheek

Cell X|Cell Y

cheek | onion

Question 6

Muiltiple Choice
Fri 24th Sep 2021

29,123,880

helow. A tick (V) indicatea that the part was sbaervad in The aall.
Parts of cofl Coll X Call
nutleus v j
call wall | 5 X
chicroplasts
{ cell membrans h H

Wiich of the follysing shows the comect ciassificallon?

Primary 6 Science » Primary 6 Science (Term 1)

The disgram balow shows the clrgulatory system in a fish and humon.

=

T o |
== s
o E

B
= HEs
" =1
._|: -ﬂlﬂ_. st ings _|_J

Clreulatory system of 4 fish
Whiich one of the foliowing identffies cuygen-rich

ab iha diffgrent parts correoty?

Oxygen-rich blood

Carbon dioxide-rich blood

A D,G

B,C,EF
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Question 7

A: Food
B: Oxygen
C: Carbon dioxide

Question 8

B. Oxygen-rich blood | Carbon dioxide-rich blood
B,C,D,G AEF
C. Oxygen-rich blood | Carbon dioxide-rich blood
C,G A B, ED,F
D. Oxygen-rich blood | Carbon dioxide-rich blood
A EF B,C,D,G
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,123,897

Primary 6 Science » Primary 6 Science (Term 1)

Which of the following is produced by green plants during photosynthesis?

A. Aonly
v B. Aand B only

C. AandConly

D. BandConly
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,123,906

Primary 6 Science » Primary 6 Science (Term 1)

Duvid o Uy e Fodowing expermeant using proan bean seads.

o |

Which of tha following

Bazk

wind .
— (@esaili haan seads

condifions should ke checse I order jo have the seedlings with

i ilinmeal stams 84 the end of his axpadmant?
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A. |Location Type of cotton wool | Number of green bean seeds
in the garden | moist 6
B. |Location Type of cotton wool | Number of green bean seeds
in a dark cupboard | dry 30
C. |Location Type of cotton wool | Number of green bean seeds
in the refrigerator | dry 6
v D. Location Type of cotton wool | Number of green bean seeds
near the window | moist 30
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,123,921
Question 9 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

Rain bools are worm o prabect the gecson from gatiing thalre feet wel whan hatshe
walks In haavy rain,

Basad on tha properiies ehown below, which matedal is most sultsble for meking e
rain boaots?

Key
V' yes
% * N

Property
Material I~g3rora | Flexible | Waterproof

https://www.classmarker.com/a//tests/test/?test_id=1821837 6/22


https://www.classmarker.com/a/tests/qb/manage/?test_id=1821837&question_id=29123921
https://www.classmarker.com/a/tests/qb/manage/?test_id=1821837&question_id=29123921&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1821837
https://0cm.classmarker.com/10070943_MC0Q4KO1.jpg
https://0cm.classmarker.com/10070943_WJYCPJDB.jpg
https://0cm.classmarker.com/10070943_RUA8UHJM.jpg
https://0cm.classmarker.com/10070943_B3IDK4GB.jpg

10/31/21, 1:16 PM ClassMarker - Manage Test

D v \ X

Which of the following about condensation and evaporation in the water cycle is not correct?

v A Evaporation occurs at a fixed temperature.
B. Condensation happens when water vapour loses heat.
C. Evaporation is affected by the temperature of the surroundings.

D. Condensation causes the formation of clouds.

vl thrme Identcal
ntical hot buns, of the sema tormperalire, |
m Ppu-l‘fr ?;:‘H:H.‘i'm number of holess on (e 1id of the boxes are diffarant.

-II,.-"E: i L= 5
‘1 ; *." ol Q | _!"i‘fq.li"'._-l":rh
j‘- | —

P B O Bk -

dox P

Based on information abos, wivich of tha following stakements f comrect?

A. Water droplets formed on the inner surface of the box lids for P and Q only.

B. The holes allow all the water droplets in the box to escape to the surrounding air outside
the box.

v’ C. The most amount of water droplets dripped from the inner surface of the box lid onto the
buns in box P.

D. The most amount of water droplets dripped from the inner surface of the box lid onto the
buns in box R.
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 24th Sep 2021

Last Modified: N/A

QID#: 29,123,937
Question 10 Primary 6 Science » Primary 6 Science (Term 1)

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 24th Sep 2021

Last Modified: N/A

QID#: 29,123,949
Question 11 Primary 6 Science » Primary 6 Science (Term 1)
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 24th Sep 2021

Last Modified: N/A

QID#: 29,123,974
Question 12 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

The diagram shows the arrangament of four bulbs In & circwil.

U
bub PO buib @)

bulb R bﬁs

Which of the following bulbs can be turned on or off using the switch?

A. Qand S only
Q and R only
v C. PandRonly

D. P,QandRonly

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,021
Question 13 Primary 6 Science » Primary 6 Science (Term 1) 2 pts
Ramesh kicked a ball upwards. .
@_‘ = ™
a b
~  position B e
Fad = =

/ 3 A
/ % g 4

f.- position A '[t..."‘ 1{%}3
position C @ ﬁ

At which position(s) did gravitational force act on the ball?
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A. Aonly

B. Bonly
C. BandConly

v D. ABandC

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,026
Question 14 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

Abenid pushad ki toy Gar soross: surfacs A
foy Gar

TN s

mpiimant B oy
He repealed the by sing tho sama amaur of faroe Gn
wﬁmmdﬁmm B, ard 0, The (i taken for e oy
for b corne i @ comirals stop i roconded and shown balow.

fiven takoonva
i Dyt ey \
o o
{spoonia)
| - matuce
A -] G #]

Aesed on information akve, which ot the following staterments ans comect?

A Suface G ks e smopthesi:
3 Mﬁﬂhwmm*mmm wirface

c: Th-ﬁﬁur-umhnn'rmmﬂwwmnmhmmm.
Ox Thane is e Ipticnal foree acling batwean the oy car ard surfaco C,

A. AandBonly
v B. BandConly

C. BandDonly

A, B and C only
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,030
Question 15 Primary 6 Science » Primary 6 Science (Term 1) 2 pts
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Awirs was colled around a matal bas as shown below.Al first, thi metal ball
did ot move.

S — : metal bar
K

mezial bakl

\b’_

bafl moved
When quplnmﬂhbahmpnlms“nd_ﬂ the melal
mward:ﬂwmatsﬂharhafmumpphmhmdnm.ﬁdwmupﬂnd unidl tha
Ihaktary wars removed.

Whial can ba concluded besed on the Infenmation abova?

A: The metal bar was a permanent magnel.
a: The retal ball was made of a magnetic matarisl -
C: TPmmtﬂhE]lmmpmnmnmmmmadmwnmll

v A. Bonly
B. Aand Conly
C. AandBonly
D. Band Conly

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,035
Qu estion 16 Primary 6 Science » Primary 6 Science (Term 1)

The disgram bedow shows how o Truit is fommed from flowar X,

State process A.

Accepted answers:

¥’ Pollination

Question Type: Free Text
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Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,040

Primary 6 Science » Primary 6 Science (Term 1) 0.5 pts

Question 17

The diagram bedow shows how o Trult is formed froem fowar X,

State process B.

Accepted answers:

v’ Fertillisation

Question Type: Free Text

Date Added: Fri 24th Sep 2021

Last Modified: N/A

QID#: 29,124,045

Qu estion 18 Primary 6 Science » Primary 6 Science (Term 1) 1 pt

The disgram bedow shows how o Truit is fommed from flowar X,

Which part of the flower did part Y of the fruit developed from?

Accepted answers:

v’ Ovules

Question Type: Free Text

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,051
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Qu estion 19 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

The plchure shows organism Z, interacting with flowear X

Describe how organism Z helps In process A (2m)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,073

Correctly answered feedback

Organism Z helps to pollinate flower X when its body rubs on the anthers of flower X and the pollen
grains stick onto its body. Thereafter, organism Z moves on to another flower and pollinates the
flower when its body brushes on the stigma of the flower.

Incorrectly answered feedback

Organism Z helps to pollinate flower X when its body rubs on the anthers of flower X and the pollen
grains stick onto its body. Thereafter, organism Z moves on to another flower and pollinates the
flower when its body brushes on the stigma of the flower.

Question 20 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Petar conductsd an experiment to investigete haw the amount ef light affacted
tha mass of frults In plant X over a perod af Uma.

The graph below shews tha result of the axperiment.

mmass of fnaits {g)
TS
b

| . amountof
B 5 1 15 20 ight {units)

Based on the graph, state how the amount of light affected the mass of fruits produced by plant X. (2
marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,083

Correctly answered feedback

As the amount of light increased to 15 units, the mass of fruits increased. When the amount of light
was 15 units and more, the mass of fruits remained the same.

Incorrectly answered feedback

As the amount of light increased to 15 units, the mass of fruits increased. When the amount of light
was 15 units and more, the mass of fruits remained the same.

Question 21 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Petar conductsd an experiment to Investigate haw the amount of light affocted
tha mass of frulls in plant X over a parod af Uma.

The graph below shows the result of the experment.

mass of its {g)

400 S

. amount ol
0 15 =20 ghtfunits)

o

[T - -—-1‘-1;:-—
|
!

Peter decreased the amount of carbon dioxide used in the experiment. Explain what would happen to
the mass of the fruits after some time. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,102

Correctly answered feedback

Mass of the fruits will decrease. With less carbon dioxide the rate of photosynthesis will decrease.
The plant made less food. Less food would be transported to the fruit and stored in the fruit.

Incorrectly answered feedback

Mass of the fruits will decrease. With less carbon dioxide the rate of photosynthesis will decrease.
The plant made less food. Less food would be transported to the fruit and stored in the fruit.
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Qu estion 22 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

hmmﬂ&ﬂmﬁduﬂhwmamwﬂfawnﬁﬂdﬂ iha time taken for il 1o
raach the bottom of & remg. He sel up the experment below and gave the car a
gertle push 1o ket [} move dovwn the ramg.

champ

Fill in tha boxes 1o mmMyMWMMWmilmmmnma

ramp. (1)
5 1 +
= Ry ey
(el mn:gzint A . ] ]
m

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,114

Correctly answered feedback

Gravitational Potential ----- > Kinetic + Heat + Sound

Incorrectly answered feedback

Gravitational Potential ----- > Kinetic + Heat + Sound

Question 23 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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T
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Without changing or adding any new apparatus or materials, state what he could do to make the car
move down the ramp faster using the same force. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,126

Correctly answered feedback

Shift the adjustable knob to a higher position to raise the ram.

Incorrectly answered feedback

Shift the adjustable knob to a higher position to raise the ram.

Jammﬂadmm;dhmmamaﬂnfamnﬁudﬂerh'nutakanﬁnfﬂlﬂ
raach the bottom of & remg. He sel up the experment below and gave the car a
gertle push 1o et [t move down the ramg.

champ

T
sdjusiabla toy car _ point A
kmobr

a— g

Explain your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay
Date Added: Fri 24th Sep 2021
Last Modified: N/A

https://www.classmarker.com/a//tests/test/?test_id=1821837
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Correctly answered feedback

When the slope is steeper, the car is higher, resulting in it having more gravitational potential
energy, thus, more gravitational potential energy will be converted to more kinetic energy.

Incorrectly answered feedback

When the slope is steeper, the car is higher, resulting in it having more gravitational potential
energy, thus, more gravitational potential energy will be converted to more kinetic energy.

Question 25 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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kR ramp

Jerome repeated the experiment by applying a layer of oil on the surface of the ramp. Explain what will
happen to the time taken for the toy car to reach the bottom of the ramp. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,148

Correctly answered feedback

The time taken will be less. There is less friction between the car and the surface of the ramp.

Incorrectly answered feedback

The time taken will be less. There is less friction between the car and the surface of the ramp.

Question 26 Primary 6 Science » Primary 6 Science (Term 1) 1 pt
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A welght 15 hung on spring A as shown balow.

:mg‘ 75/

Name the force acting on the weight when it is hung on the spring. (1 mark)

Accepted answers:

v’ Gravitational force

Question Type: Free Text

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,161

Primary 6 Science » Primary 6 Science (Term 1) 1 pt

Question 27

A welght 15 hung on spring A as shown below,

:mg‘ 75/
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What is the original length of spring A? (1 mark)

Accepted answers:
¥’ 10cm

v 10 cm

v 10

Question Type: Free Text

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,174

Question 28
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A welght 15 hung on spring A as shown balow.
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spring B.

The graph shows tha results oblained.
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to attempt after the test has been completed.

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,193

Correctly answered feedback

Incorrectly answered feedback

Question 29

https://www.classmarker.com/a//tests/test/?test_id=1821837

Spring B. Spring B can stretch to measure but Spring A cannot.

Spring B. Spring B can stretch to measure but Spring A cannot.

Which spring is more suitable for measuring objects weighing 250 g. Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was

Primary 6 Science » Primary 6 Science (Term 1)
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Ap sopadimentd s sel up as shown below, Bodh conleiners wers jdnrfical ard
filad with watnr =t 80 °0,

large glass containgr

v Set-up B
v set up B
v setup b
v' B

Date Added:
Last Modified:
QID#:

Question Type:

Accepted answers:

Free Text

Fri 24th Sep 2021
Fri 24th Sep 2021
29,124,206

Question 30

satup B

In which set-up, A or B, will the water be at a higher temperature after 30 minutes? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 6 Science » Primary 6 Science (Term 1)

Ap sopadimentd s sel up as shown below, Bodh conleiners wers jdnrfical ard
filad with watnr =t 80 °0,

large glass container

https://www.classmarker.com/a//tests/test/?test_id=1821837

Explain your answer in the previous question. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,222

Correctly answered feedback

The layer of air is poor conducted of heat and reduces heat loss from the water to the
surroundings.

Incorrectly answered feedback

The layer of air is poor conducted of heat and reduces heat loss from the water to the
surroundings.

Question 31 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Ap sxpesimend 15 et up 85 shown below, Soih conlsiners werd idanfizal ard
fillod with wiotnr ot 90 °C, large glass cont

MPA gEHIR B

What will happen to the temperature of water in both set-ups after one day? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Fri 24th Sep 2021
Last Modified: N/A
QID#: 29,124,228

Correctly answered feedback

They will both lose heat and reach room temperature.

Incorrectly answered feedback

They will both lose heat and reach room temperature.
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